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Chan S = "Hello, world!" ;

Chan, STI6) = " Hello, worlol!" )

int A = 30
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Chon *S = "Hello, world!" ; (Ngtant




Chan STIL) = "Hello, world! !
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Chan SU6Y = "Hello, world!" ;
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#include <stdio.h>
#include <string.h> // strlen()

int main(void) {
char s[100] = "Hello, world!";
int 1, len;

printf("s= %s \n", s);

len = strlen("ABCDE");
printf(“len= %d \n", len);

len = strlen(s);
printf(“len= %d \n", len);

for (i=0; i<len; ++1)
printf("s[%d]l= %c %d %x\n", i, s[i], s[i], s[il);
printf("s[%d]= %c %d %x\n", i, s[i], s[i], s[il);

printf("s= %s\n", s);

s[2] = ©;
printf(“s= %s\n", s);

printf("s= %s\n", s+7);
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Binclude <stdio.h>
int main(void) {
int al, a2, a3;
int al[3];
int 1i;
al= 100;
a2= 200;
a3= 300;
printf("al= %d \n", al);
printf("a2= %d \n", a2);
printf(“"a3= %d \n", a3);
for (i=0; i<3; ++1)
alil= (i+1)*100;
for (i=0; i<3; ++1)
printf(“al%sd]l= %d \n", 1, alil);
// print az
( d
for (i=0; i<3; ++i) Sizes§ O re-fwns
printf("&al%sd]l= %p \n", i, &alil); v{/
printf("sizeof(char) = %ld \n", sizeof(char)); o/oﬂci
printf("sizeof(short) = %ld \n", sizeof(short));
printf("sizeof(int) = %ld \n", sizeof(int));
printf("sizeof(long) = %ld \n", sizeof(long));
printf("sizeof (i) = %ld \n", sizeof(i));
printf("sizeof(al0]) = %ld \n", sizeof(alo0]));
printf("sizeof(all]l) = %ld \n", sizeof(alll));
printf(“"sizeof(al2]) = %ld \n", sizeof(al2]));
printf("sizeof(a) = %1ld \n", sizeof(a));
printf(“a = %p \n", a);
printf("&al[0]l= %p \n", &al0]);
printf(”(a+0)= %p \n", (a+0) );
printf("(a+1)= %p \n", (a+l) );
printf("(a+2)= %p \n", (a+2) );
printf("*(a+0)= %d \n", *(a+0) );
printf("*(a+1)= %d \n", *(a+l) );
printf("*(a+2)= %d \n", *(a+2) );
}
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Binclude <stdio.h>
#include <string.h>

int main(void) { 8‘: (=WO0  &— D 0k
int i = 100;
const int j = 200;
int m = 333; &3 4 =00 <% 1)) Con noty c,ka..\ny,
int n = 999; ° \ . ¢
Ut omdtant)
int *p

const int *q

printf("i= %d j= %d \n", i, j);

i=0
/7]

0;

printf("i= %d j= %d \n", i, j);

printf("*p= %d *g= %d \n", *p, *q);

*p = -111;
*q = -111;
printf("*p= %d *g= %d \n", *p, *q);
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3 Types of Functions

int funcl(inta) { int func2(inta) { void func3(inta) {
a *= 999; if (@ < 0) return -a; printf(“%d \n”, a) ;
return a; else return a; // return;
} }
i B . |
S= funcl(100); S= func2(100); func3( 100 );




Indirect Function Call

S |nt main () int funcl () int func2 ()

funcl ( ); func2( Ik
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Indirect Function Call o

int main () int funcl () int func2 ()
{ JE S
Save the _— Save the ‘
return address Lo return address —
funcl ( ); func2 ( );
} } T—]
main's local variables Funcl's local variables Local Variables —_—
on the stack frame on the stack frame
while main is active While funcl is active e
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Local Variables in a Stack Frame

int main (void)

intS1 = 0;

=) printf(“S1 = %d \n”, S);

Sl =psum(g);

printf(“S1 = %d \n”, S);

int main (void)

intS1 = 0;

printf(“S1 = %d \n”, S);
=) S1 = psum (g );
printf(“S1 = %d \n”, S);

int main (void)
intS1 = 0;
printf(“S1 = %d \n”, S);

S1=psum(g);
=) printf(“S1 = %d \n”, S);

return O; return 0; return 0;
} }
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psum (g );

psum (g );

before the call to during psum() is after the call to
psum() being executed psum()
Data View
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